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All entries in the OMR answer sheet should be with blue/black ball point pen only.
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On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over
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STFadH-o (F(EF) 9 €.1350 /Draughtsman-B — (Mech) Post No.1350

1. gf< T T ST 1 AU Sreh/Measured size of a finished product is

(a) ATEATAF ATHYActual size

(b) AT AHTYDimensioned size
(¢) I<ITaT R1Y/Production size
(d) YT ArRI/Basic size

2. R ¥ femmy U e 3w FT 9gAy)
Identify the type of bolt shown in the figure.

(a) T aee/Rag Bolt

(b) == aree/Lewis Bolt

(c) =T aree/Cotter Bolt

(d) <9I F ¥ uF ¥ 7Ei/None of the above

3. g § & Fi-ar syareag (GteT) w=rd F g sfeard e 7@ 82
Which of the following is not an essential property for refractory material?
(a) 3¢ e ITeFa/High electrical conductivity

(b) 'c?fﬂ'f'{/Long life
(c) TTIHTH FA==oT & HT ~ATH e a7 T

Minimum contraction and expansion due to temperature variation

(d) a7 Aew/Heat insulation

© 4, ATEETESTET TF e — 21/Nitriding is a
(2) o i % srafdg fRey & < st qrae ahan/

heating process given to the required portion of the work piece
(b) I8 gEwor ST Rrad & Tt #r st % s & arfia B smar g/

case hardening process in which work piece is heated in a steam of ammonia

(c) Tarorei =T STIT Fft §S I8 geror st/

a case hardening process using electricity

(d) 34 F F TH AT TE1/None of the above

A 3 1350
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5. PedrERET %g\é)r &I Wﬁ‘"{lﬂdenﬁfy the type of thread shown in the figure

(a) &Y I 1/Buttress thread g . o
(b) Ft TEV thread : ot .“:{
(c) dverd gg1/Sellers thread SN NS

(d) faeae I/ Whitworth thread

6. aﬁ%ﬁﬁiﬁﬁﬁwﬁﬂﬁmﬁwm%ﬁmﬁmﬁmwmwmwﬁ

In AutoCAD, what is the command for arraying an object on a helix?

(a) SEEE/ARRAYHELIX (b)  STCIA/ARRAYPATH

(c) HLEATEA/ARRAYSPLINE (d)  SATST/ARRAYLINE

Ratio of Stress to Strain is known as

(@ I HT97%/Y oung's modulus (b) = 1Ei AATd/Poisson's ratio
(c) ®Td/Pressure (d)  <</Force
8. sy T & RS ¥ AT ST ST TF T ST e § A A §
Baseline dimensions are referenced from a common geometric feature known as
(a) Foft/Corner (b)  ®/Edge
(¢) T/Datum (d) % f9g/Point of reference

9. WW%A%@%@%W@@@WWW%W@H&@#WWW ............

g
When a load W is applied on a bar of cross sectional area A, the average stress induced in the bar will be
(a) W/A (b) WA () 2W/A (d 3W/A

A 4 1350
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10.

11.

1528

13.

14.

Teh 9Tt FATTATE T oo @?ﬁ %I/A simple mechanism has

(a) 2 &E7T/links (b) 4 FHEFT/links
(c) 5 =i/links (d) 6 FHEFT/links
AT TITAT T T oo &1/The purpose of idler pulley is

(a) 9T T4 IATC T&T/to maintain belt tension

(b) Tort & i s AT/ for starting motion of pulley
(c) AT A < FLAT/for stopping motion frequently

(d) T T 90° 7k gfkaftia H<AT/for changing motion to 90°

The key shown in the ﬁ'gure is

(a) =g (%a¥) =T=il/Feather key

(b) T et =Te1/Single headed key
(c) d=TH FTa1/Woodruff key

(d) T ATE/Peg key

S FH a9 HLAT g ql STHI/When cam undergoes dwell, the follower
OBBCEICERG] %/remains at rest

(b) THEHTT THA ¥ F&dT g/moves with uniform speed

(¢) T amad i ¥ a1 g/moves with simple harmonic motion

(d) STI # ¥ TH ¥t 7Li/none of the above

&07 et THIOT HF2r 3 aieet A1 Fatiesh e O e g AR

The maximum circumferential pitch of the bolts for leak proof flanged joint should be

(@) 15Vd (b)  10Vd to 20Nd ()  20Ndto30Vd (d 5Vdto20Vd
Sgi 'd' Fiee feg =T §1/where 'd' is bolt hole diameter

5 1350


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

15.

16.

17.

18.

247

Bearings are used for

(@) THTT UF HuF w7 F/reducing shock and vibration
(b) =it T[UTTh @ /increasing frictional co-efficient
(c) =it qUTie W FA/reducing frictional coefficient
(d) I9IH H § FTS TEi/none of these

1D
&
L=

Fr9r fow 1o = & 92 % TR T agEa
Identify the type of nut from the following figure IRIEE] I

(a) @RI 7¢/Slotted nut

(b) =«F 7</Ring nut

(c) ErdT #e/Cap nut
(d) %FoEe qe/Capston nut

............... 3 wrrer § feafe wter i gear Feaw 2

Riveted joint has lowest efficiency in case of

(@ safaEfaae dfd/double riveted butt joint

(b) & fafes @w wfa/double riveted lap joint

(c) U fafea o dfe/single riveted lap joint

(d) & E-udr fafea = |@fAdouble zig zag riveted butt joint

AT AIFRIAL T “AMLAYMOV” 32T .o FfT gl
"AMLAYMOV" command in AutoCAD software is to

(a) 9% T T TG UL o SAT/move object to a layer

(b) TET FN TH FAFRT T T & ST/move object to a working layer
(c) TEG FI 3ier TIL IL A SAT/move object to a part layer

(@) S9I< # & TF ot T8i/none of the above

GET IT ON
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20.

21.

22.

23.

247

1000 Fr Y. siars ¥ Freht @z 97 5 fa o, as di=m wsd g i [pha et gril?

A rod of 1000 mm length has elongated by 5 mm. What is the strain in the rod?

(a) 0.5 (b) 995 (c) 1005

Rreferfea & § F-a7 998 7 =T 87

Which one is the most ductile material?

(a) ¥g TETA/Mild steel (b) w4l AIg/Cast iron
(c) TATH/Glass (d) =1 &/ Tool steel

The figure shown represents

(2)

©

7.

T(e/Boss (b)  TSEETY/Counterbore

Tq{e %H/Spot face (d)  FTIeTHH/Countersunk

PrerfarRr # & A qad FO S 22

Which one is the hardest pencil?

(@)

B (b) HB () H

= R g B # & 997 % 7R # g
Identify the type of thread from the following figure

(@
(b)
©
@

9 =1/Buttress thread

e FE1/Round thread

e gE1/Knuckle thread

ST H F TH +fT 751/None of the above

GET IT ON
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24.  Foelt 9 HAT e ﬁ@ﬁﬁﬁﬂwﬁﬁﬁﬁﬁ%%ﬂﬁﬂﬁﬂwﬁaﬁgl

Position tolerance is given to control the deviation in the ------------ of a product.
(2) TEG % AFUshape of the product

(b) fRwor wfEFaT/manufacturing process

(c) ForelT wreror % ¥T/location of a feature

(d) fpfY sreqor % erfrfa=ae/orientation of a feature

25.  FHEIAT, ST GXE § 7 @A ST F I AT A o ¥ IrArT & AT BT S 2

Shaft having their axes parallel but not in alignment are coupled using

OBGIETCGELE)) ‘Fi'ﬂTH_"foniversal coupling (b) ¥ Z¥H/Flexible coupling

(c) #leegrd T¥HA/Oldhams coupling (d)  TH TFHA/Flanged coupling
26. mﬁmxz—7x-£12=0$r:m("&) ................. =y

Root of the equation x% — 7x + 12 = 0 are

(@ {34} ® {34 © {34 @ 3,4
27. FW(x =22+ (@ +1)? = 25 FMHF cecevrcrirnnnries gl

Centre of the circle (x — 2)? + (y + 1) = 25 is

(@ 2,-1) ®) 2,1 © @& @ -
28. To@TC T AT T T (oo =T YT FLT 8l

The welding symbol shown indicates

(a) Fora g o ee frar AT §
welding to be carried out at the sight m

(b) AT TTF e FFAT AT I
welding to be done all round : |
(c) T & uag ¥ AT R
weld flush with surface L

(d) ST H T AT

none of the above

A 8 1350
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29, AR IFRTIE e Fag A AT RMATT T oo 2l

If the bearing pressure is perpendicular to the axis of the shaft, then it is
(a) I TaGT/Pivot bearing

(b) WO SIAT/Thrust bearing

(c) M« FAT/Journal bearing

(d) SS9 # & UH ¥ T2i/none of the above

30. i frg g e § & ared F TR H Tg=AH
Identify the type of Valve from the following figure

(a) Toree ared/Lift valve

GUARD

(b) wTES qTed/Slide valve
rfhv-l VALVE

(c) T gred/Flap valve V%'ﬁ . -

; e 1% o
(d) Wﬁﬁ@‘ﬁﬂﬁmoneoﬁhe above ‘ ;,_L;A v v
31, RIS SiSE H, T oo EEIEEIGE]

In a flanged joint, the flanges are joined by

(@) e F F/bolt and nut (b)  FEi/thread

(©) Jee/weld (d) ST T/brazing

32. e vt & Rheie 3o &1 g e Strat §2/Fillet weld is represented by the symbol
@ D
(b) )K
©
@ K

A 9 1350
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33.

34.

38,

36.

247

2 o a1 fRetia 3T sTar g1/ Tolerance zone is defined by
(a) IAGH T — G ST Minimum Limit - Basic Size
(b) FaTA® diwT - & ArHTYMaximum Limit - Basic Size

(c) Fatfd® AT — =EaH HATMaximum Limit - Minimum Limit
(d) ST A F TH 1 7E/None of the above

ST 3 S ST T T AT & S WA 3 e § wgrAer aar &2
Type of drawing which helps for maintenance of machines

(a) SHIEA ATC@UT/Production drawing

(b) - EHFET ML@O/Assembly drawing

(c) Tawwifed qugaa amEvT/Exploded Assembly drawing

(d) ST § § uF Y TE/None of the above

Ratio of distance to time is known as

(a) TELO/Acceleration

(b) FMVelocity

(c) TaT/Momentum

(d) B‘Cﬁi?ﬁ # s sft H@/N one of the above

T BT ... T BT TZAT €1/Hook's law holds good upto
4

(a) aTd it Traa {33/ Yield point of the material

(b) wETs it yeaTer HA1/Elastic limit of the material
(c) ward #I wArfees HHT/Plastic limit of the material
(d) A fag/Breaking point

10
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38.

39.

40.

41.

42.

GET IT ON
* Google Play

2 ey ofY TorT &7 e o AT fhaT STTar & Al {9 &7 91 e 2 ST
If gravitational acceleration at any place is doubled, then the weight of the body will become
(a) SrgT/half (b)  GHT/same

(c) 3 TAT/times (d) 2 7[AT/times

TEITE & S qAT AT AT F g Tg<h TR ST 8 AT B o T B

A closed vessel made of steel and used for the generation of steam is called a

(a) WTY F(FeL/steam boiler (b)  HTT TLET3A/steam turbine

(c) wWI° TyTiA/steam condenser (d WIT 3 F: T4 /steam injector

ETART AT | £ QN £1/Weight of a body is

(a) W=m (b) W=mg (¢ W=mg (d W=ma’

FY-A7 Sreig & GoAT TRl § 2/ Which one is not related to ellipse?

(a) <o A/ Major axis (b) ¥ T&/Minor axis

(©) HIeE/Focus (d) fiEEt/ped

EIE R R = 7o e A R A R A 1 O 21/Least count of a Vernier scale is

(a) 1msd—1vsd (b) msd/vsd

(¢) vsd/msd (d) 1 vsd — 1 msd

ey SITCET BT STHIT TAT I AEG F ATEATA SHIT F A1 H AGITD D s T g

Ratio of size of a drawing to actual size of the object is called
(a) &=t foFam Y9TT/Enlarged scale

(b) =% f3aT 79T THTTReduced scale

(c) yRfAfaa<F T9TT/Representative scale

(d) I §HTET/Plain scale

11
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43,

44.

45.

46.

47.

rqarter & & Tl T Rt A AT AT U gl

Projection of an object placed in quadrant 'C' is called -
(a) 9IH HI0T/First angle

(b) 2T FuT/Second angle

(c) AT HY/Third angle

(d) =g FI/Fourth angle

T STE ¥ forT ey o= 3 TS T ST FRaT ST 87
Which type of line is lllsed for extension line?

(a) ¥VeT ST @154/ Thick continuous line

(b) TqHT ST AT/ Thin continuous line

(c) YT 5@er @5/ Thick chain line

(d) TaET HE«r @A/ Thin chain line

TF AT T e % g1eT §1/One kg force is equal to
(a) 9.8kN (b) 189N () 98N
ey srEor ofte T =STS qT ST o A Bl ATIA oo gl

The ratio of breadth to length of a drawing sheet is-

@a) 12 (b) 14 (¢) 21

GET IT ON
Google Play

@) 189kN

@ 1:v2

M20x1.5 ¥ T Stee & 1.5 FaeT g% §2/In a bolt, M20x1.5, what is 1.5 stands for?

(a) =ATE/Diameter

(b) fF=/Pitch

(c) dee BT FI #er3/Bolt head thickness
(d) i=/Lead

12
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48.

49.

50.

3l.

52.

In the figure angle 'a’ equals

(@) 72 M/deg

(b) 36 fEfi/deg

(c) 18 Teifi/deg

(d) A ¥ TF AT TEl/none of these

GET IT ON
. Google Play

mﬁﬁaqﬁw&@ﬁmmmﬁmﬁwﬁmwéﬁmwﬁ ...................... Fgd gl

The curve obtained when a right circular cone is cut through a plane inclined to its base is

(a) d9d/Circle

(b) EEg/Ellipse

(c) UXTeT/Parabola
(d) wfdEea/Hyperbola

30 faft &St oo ST AT T FEATAT a9 F THIGL TH TA9 @ BT TGT AT F| DT SAGAT A8

A thin rod is kept at 30deg inclined to HP and parallel to VP. Its true length is seen in

(@) STISAT/Plan

(b) I¥MEA/Elevation

(c) FTATSTAT TAT IATET SH1/Both plan and elevation
(d) Y § T HT Tgi/none of these

EEECEL oL | e— &/Value of 5 + 252 is
@ 710 ®) 9/10 © 95 )

A AR o Tl T ARTE 33 B wa aSt dedr hi-HT g2
Sum of three consecutive odd numbers is 33. What is the largest number?
(a 11 (b) 12 (¢ 13 (d)

13

/17
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54.

35,

56.

A sphere in isometric projection is seen as

(@)
(b)
(©)
(d)

g</Circle
Trere/Sphere

STegI/Ellipse

FSTH/Oval

e R | T A der o = ST F AU A FEd 3

The ratio of number of teeth in a gear divided by pitch diameter is called

(a)
(®)
©
(d)

FA-Ht TF SR 7iHaT &l 7/Which is not a heat treatment process?

(a)
®
(©)
(d)

ATE I f99/Diametral pitch
HisTo fa=1/Module pitch
#1<e f99/Chordal pitch
TR f8=/Circular pitch

S Ta/Annealing
THTHTIHL/Normalising
9%/ Tempering
HisiA/Forgin g

R T 39T ..o ¥ forg 7t f3aT SITaTI/Gear is not used to

(2)
®
(©)
(d)

1<k # g A/ Increase power

T # gfa @/ Increase speed

Tt & Y |T/Decrease speed
- T ¥ gfe A/increase torque

14
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58.

59.

60.

247 A igere,

LT 2 A T AT saxri Ti T €= FT gHaT gl

A cam can transmit irregular intermittent motion by

(@)
(b)
(©)
(d)

gqT ¥h/Sliding contact

e Teh/Rolling contact

T q9T Y SF1/Both (a) and (b)
TR ¥ Teh T Agi/none of these

T-ITX afda Y STTeqHar TSAaTel o F g3 TSl o forg o TR =t 6ier Ita §

What type of joint is suitable for long and big pipes requiring frequent service?

(2)
(b)
(©)
(d

T G/ Flanged joint
Ffeed |8/ Welded joint
JEIg |f8/Threaded joint
TR & TH W1 751/None of these

TS ATZAT  SATE FT GreT FA % forg 3 T a1 SoaT o smar 8

To make the diameter smaller in the pipe lines, what fitting is used?

(2)
(b)
(©)
@

&t/Tee

FgH1/Elbow
HA/Coupling
FATa/Reducer

.......... T ITANT ek U1 w1fa 1 T ifq § wiafaa o Simar 2

Rotary motion is converted to linear motion using

(2)
(®
(©)
(d)

w9 =USpur gear

99« FaUBevel gear

& 9 [fA¥/Rack and pinion
Fefadt T Uhelical gear

15 - 1350
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62.

63.

64.

247

TererierT o | SI-H1 U Bl T2i® sngdl 5579 § 74 6 gt Sl 27
Which of the following is the correct order of cycle in a four stroke IC engine?
(@) =T, YT, arf<h, TA/Suction, compression, power, exhaust

(b) W, &Tf<R, L=, §4TS4/Suction, power, exhaust, compression

(c) W, L=, oTf<h, §4T/Suction, exhaust, power, compression

(d) =T, e, T, 9Ti<p/Suction, compression, exhaust, power

e arf=F "= & forg Reforfea § & frrer sor e smar 22
Which of the following is used for low power transmission?

(a) H9IE 9gl/Flat belt

(b) e 9E/Round belt

(c) d&I-9gT/V-belt

(d) -G TTMulti grooved belt

TR gag 1 At searer gag s Si9-a1 872
Which surface symbol represents smoothest surface?

VVVV VWV VvV V
(@) (b) (©) G

TIA-4a 9 "IF HT TdF/Symbol for Double-bevel butt joint
(a) (b) (©) (d)

16
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65.

66.

67.

247

= & feETe 1T 99 7 979 Farsq)

Name the coupling shown in the figure

(2)
(b)
(©)
(d)

i%:_%

T g¥HA/Muff coupling

aref A9 Z¥HA/Half lap coupling
ferwr<h @ Z7A/Split muff coupling
THIOT I7H/Flanged coupling

AT Tl HiA-AT 82

Which one is the wrong symbol?

(2)
(b)
(©)
(d)

[T/ Straightness

HHAAdT [ Flatness D
B/ Circularity O
©

EREIEAT /Cylindricity

e i AT 22

Which one is the wrong symbol?

(a)
(b)
(©)
(d)

guratar/ Parallelism Famnt
1firemr/Run out S

Serdn /Perpendicularity L
SHIfUreRdT / Angularity 4{__
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68.

69.

70.

GET IT ON
- Google Play

XTI [3HAT % [oIT IF-AT Tt 7T §2/Which is the correct standard for circular dimension?

|
l
|

== 7 oS 78 FRwTsRor {39 7 AT TAT5T1/Name the dimensioning method shown in figure

65
45
25
]
T
o
mn
0
i
o
| I
(a) =@ fa®/Chain dimensioning
(b) =TaT fAwTETT/Continuous dimensioning
(c) wwiax fAATEUT/Parallel dimensioning
(d) wfdsT famTsTo/Running dimensioning

Rerferfera wfte & 'a’ 997 §2/What is 'a' in the following symbol?

(@) WA ge/Machining allowance
(c) <& Gyt F¥ feeT/Direction of lay

&A1 HI7/Roughness value
STa=a §aTs/sampling length

1350
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Tl

72.

247

o  fegmy s =g & Y &1 9 Sarsl

Name the type of section shown in figure.

()
(b)
©
(d)

2 § fewry 7w g=8E & T & 719 dd13Cl/Name the type of section shown in figure.

(2)
(b)

(d)

e ai=a2g/Removed section
@feq uR=<e/Broken section
TiRiaa TR=ee/Revolved section

steT T=@/part section

RAANN

77N\
72\

SN
NN

o

‘i}Tf qf=2e/Full section
ArFae qi=ea/Offset section
aifaT afi=ae/Aligned section

FHGT fsae/Parallel section
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73.  HEl GIEREIT 399 FY UgATH/Identify the correct sectional view

l:,w S R\\\:\\\ N
t““ K\\\\\\Q N “‘““““““4‘
(2) (b) (c) (d)

74, IR AT R § GE) 397 TEATATI/Identify the correct view in the direction of arrow.

== " I

(a) (b) © (d)

A 20 1350
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75. == ¥ feETu 77U 9% &7 719 Far3¢1/Name the gear shown in figure.

- mwm&%

WAIN

(a) a9 T 9f2T/Worm and wheel (b) T REYSpur gear
(c) Fefert Fa/Helical gear (d) 999 FayBevel gear
76. EEATT 18, 12,17, 9, 25, 23, 27 FT I weveerreereerrerens 2l
Range of the numbers 18, 12, 17, 9, 25, 23, 27 is
(a) 18 (b) 9 (c) 27 d 20

77. PRt mreria s % Y fAeer F07 2x + 30 and 4x — 60 8, T x FT A ........ Bl

Two adjacent angles of a parallelogram are 2x 4+ 30 and 4x — 60, then the value of x is

() 60 (b) 35 ) 65 d 25

78. == ¥ femTy wu gshi= % fZET &1 A7 Sar301/Name the machine part shown in figure

(a) FfRaT/Bearing (b) FJe Tur fifAgm/Ratchet and pinion
(c) H@aT 9fgAT/Chain wheel (@ ¥ frESpur gear

A 21 1350
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79. =¥ Remgag AT W7 AT 1Y |/Name the coupling shown in figure

? L .

8]

(a) 9% TFHA/Muff coupling
(b) (&I TR F FeAwT TH/Protected type flange coupling
(c) 39 Z7wA/Solid coupling

(d) THIIO Z7H/Flanged coupling

80. s awi i s 2 F o fest SwaT fiwr strar 22

Which one is used to draw irregular curves?
(a) W< TFHIYSet square

(b) - TI&F/Protractor

(c) T Fd/French curve

(d) At SR=YMini drafter

A 22 1350
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